ﬂh Lattice 3 by 2

Name:

Use lattice multiplication to solve each problem.
1) 2) 3)

709 x 79 = 825 x 49 =

7 7 s 7 s z
s s s / s s
/ 7/ 7/ 7/ 7 Vi
/7 7 Ve 7/ 7 7
7 Ve Ve 4 / 7
4 Vs /7 V2 4 7/ /s 7
7 7 Vi s, 7 7 7 7
7 7 7 , 4 Ve Ve V2
7 4 Vi / V4 ,
7 7 7 4 4 7
7 /s 7 4 4 7
7 / V2 4 4 /
7 7 , 4 4 s

7 4 4 Ve 7 7
/ s s /s 7 7
s s s 4 7 7
7 7 Ve 7/ 7 7
4 7/ / 7/ 7 7
4 s 7 ’ 7 4 4 7
Ve V2 Vi 7 7/ Ve 7 7
4 ’ s ’ 4 ’ ’ ,
7 / 7 7/ 7/ 7
4 4 7 4 4 Ve
7 4 7 Ve / ,
7 7/ 7 7/ 4 7
s s s / , ,

107 x 94 =

Answers

’ 7 7
/ ’ /
4 /
/
’ 7 .7 2.
4 Ve s/
4 7 7 ,/
7 y ,
/ ’
7 7 ,/ 3.
’ 7 ,
7 7 )
/ ’
4,
6) 5.
380 x 73 =
6.
’ 7 7
/ s /
/ /
7 7 7
‘ 4 ‘ 7.
/
4 // // ,/
7 Ve ,
/ / y
7 7 V.
, — y 8.
7 7 y
/ /

10.

11.

s s s s s s s s s
s s s ’ ’ ’ ’ ’ ’
7 7 /7 7 7 7 7 7/
e s s e , , L’ , K
e 7 7 7 7
y 12.
s s ’ 4 7 / s’ 4 4 4 7
7 Vi 7 y 4 7/ 7 V2 4 7/ 4 7
s s s Y 4 /s / V 4 4 s
/ / 7 7/ 7/ Ve 4 4 /
7 7 7 7/ 7/ V 7 4 /
/s 7/ 7 / / 7 4 4 /
7 Ve V] 4 4 7 4 4 7/
7 / s ’ 7 y / /
) 586 x 41 = 577 x99 = 139 x 78 =
7 7/ /7 e /7 /7 7 7 7
s s s ’ ’ ’ ’ ’ ’
4 /7 /7 7 7 7 7 7/
s s s ’ ’ ’ ’ s s
7 Vs 7/ 7 7/ e 4 7 7
Ve 7 7 4 Vs 7 e 7 /
4 / 4 // 4 7 s ,/ / y , /’
/ / 4 /s 4 s ’ Y s s ,
/ 7/ 7 7/ 7/ V 4 4 /
4 4 Vi Ve 7 ya 7 V2 ,
/ 7 7 / / 7 4 4 /
7/ e 7 4 4 7 4 4 7/
s ’ y; ’ s s ’ ’
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Lattice3by 2 Name: Answer Key
Use lattice multiplication to solve each problem. Answers
D Z09x79= %) g5 x 49= %) 107x94=
7 0 9 8 2 5 1 0 7 L 56,011
4/0,’6,’7 3,/0,/2,/4 0/0,’6/9
51,7 9],- 0], 3 4l 21,7 8|7 0 11,779l 0l,73|° |2 40,425
/// 6 /// 0 /// 8/// 9 /// 7 /// 1 /// 4/// 9 /// O /// 0 /// 2/// 4
6|.23[.70],71 ol.” 2|.”8(,75 ol.” 4|.70(,7"8 3 10,058
70,71 71 a2 70,75 7
" 27,236
5 2,840
Y 619x44= %) 284x10= ®) 380x73=
6 1 9 2 8 4 3 8 0 6. 21,740
2 /10 T3 ], 070 To 1], 2 /15 10 ],
2.7 4|,74|,76 0|.” 2(,78|,7 4 2.7 1|, 6|,70 7 34,944
/// 2 /// 0 /// 3/// 4 /// o /// 0 /// O/// O /// O /// 2 /// 0/// 3
71.74|.7 4|, 6 21,7 0(.70[,70 71.7 9.7 4].70 N 21.420
72,73 .,6 8,74 .,70 7,74 .70
9 83,334
0. 24,026
) 624 x 56 = 8 71ax30= 9 969 x 86=
6 2 4 7 1 4 9 6 9 1. 57,123
3,/1,/2,/5 2,/0/1/3 7,/4,/7,/8
3|7 0[,70[,70 21,7 1|, 3],7 2 8|.” 2,7 8|,72 » 10,842
3 1 2 . 1o 7lo 7o 0 15 713 |5 6
al,” 6|7 2,74 1.7 ~0l,7”0 3.7 4|.76|,7 4
/// 9 /// 4/// 4 /// 4 /// 2/// /// 3 /// 3/// 4
10) 5ggx41= ) 577x09= 12) 139x78=
5 8 6 5 7 7 1 3 9
2 18 12 7], 4,’6/6/9 0.2 /T8 |,
21,770, 2],7 4 5|, 5(,7°3|,73 1.7 7|.71(.,73
/// 0 /// /// O/// 1 /// 4 /// 6 /// 6/// 9 /// O /// 2 /// 7/// 8
4,7 5(.78(,76 71,7 5(.73(,7°3 o|l.”8|.74|,72
S0 2 12 ) 8 4 2
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